Oa S =40 dit Aoz &2 Ae B5 1=2H? (FF 270)

® 7o) 2717} 90° ok,
((@90‘7 Hrt 337 180° X} ZHe Zto|t},
® 7ol 2717} 180° o]t

@ 0° B} 23 90° Bt 2L ztolet,
G Azary 23 grhn 2Lz,

@ zte] 2717} 90° Q1 ZHe Fztolct,
® zke] 27)7} 180° 1 22 W Zolc},
@ 0° BT} 271 90° W} 4L 7he o Zolc,




2.

oS 2elA /x0T Fotolat,

50°

|IE'-
o

+10°

GEZZEO] 7] AR FoBR
50° = x + 10°
coLx = 40°




oln

S
~N




Bu)

o
ol
o4,

T &4 92 ALY

® 1//m°)9H La = e °]Tt.

@ 1//m ©°l9A sc+ th=180° °|th.
@)1/ym o1 b

Le O]t}

@ Az A7=

ok

g eAE

8%
&

OR-CERERIS

I EA=

52

.

® 1//m oA sb= rh ot

a

b
h e




5.

e 2-olA At 24 o] A BAE & vErd 227
l

o
ws)

Qe

O FAsdd 9ol At (@)A B & F4 1 Sl .
@ ABEAA P St @ HCcEHA S U
© ol gl

S8
A B Ao Ut
DA¢l
®B¢l
@Cel




6. TFS Ieo] WHAHE A OD 2} 3 Hol A Wit HA o] A4S
8ozt

A D




=, Az 3

it 2

O
f=

o §14)7} ot

iAo
NN
o ok bk ok
o) o T el
RMRT B O
<} | Eo o
G
R T B
"COEe NTOEO
SRR

GROROND)

06,0 @Qoe 0ee ®8e 606




8.

the AS A oA W EFGH ¢ B3Ql A2zt opd 2127

A D

™ EFGH ¢ ¥3j3l 2Ag]; AB, BC, CD, DA




9.

the 2R ozl DAY ASE o, LA ASE b 2

b-a 9 F2?

@ 3 @)4 @ 5 @ 10

® 15

a=06, b=10
WA b—a =4 o]t}




TRHT} o] 240 Aol H A, B,C 7}

O
=

10. ot




11. Y A A, B, C, D 7bohe 27} o] 94 1], o] 5= AL
A ThE AR A 8 A Fotelar,

D
[ ]
A B 0
Ct 7H




12, o3 J2"NA 2x & 272

T+10°

D 35° @40° @ 45° @ 50° ® 55°

Lx + (£x +10°) = 90°
L Lx =40°




13. o I"HANA tx+ 2y = 2 Z9I71?

@® 50° @ 130° 6@)1400 @ 160° ® 180°

Zx = 50°, £y =90°
Lx+ Ly =50°+90°=140°




14. o5 233 Zo] Al A4do] & 4 O oA vhd of, srEX b2 =%

2 Aol 7171

1 @5% @pn @18 ©s%




15.

® 37

iih}
o
ol
Fr['.‘




© ¥ EFCGH ©® ' BFGC

@ W ABFE

® ™ AEHD

® ' CGHD

E,® W BFGC,® W CGHD, @ H AEHD o|t}.

BCD ¢} 2]l |2

HA
kil

™ ABF




17. o

® 7D @ 1I© G)EC K

® BAE EC &= 24 AB 9} & A (E) oA whdth




18. th& I13oA T H M, N-& Z+ZF AB, BC ¢ 40|11, AB: BC =
1:3,BC = 18cm ¢ o, MN 2] Zo|& Falofat,

_--18em~ _ _

- ~

A M B N C
> = cm
> el 12em




Al

(@)30O @ 35° ® 40° @ 45°

B

® 50°

(=x+ 50°) + (2x + 20°) + (3x — 10°) = 180°
4x + 60° = 180°

4x = 120°

Lo/x = 30°




20. ©HE T-OIA 1//m D W, Lx + 2y O L FofedeL,

55 [
T
Yy
30° m
» Eh °
> =g 235°

B

Lx — 25° 4 Ly — 30° = 180°
LoLx+ Ly = 235°




21. b THNA 1/ m D T, Lx + 2y ] TS Tl

19°
= l
T
y
23° m
> = ‘

> FE 2220

B

HP,QoA A4 1o Ha e 1o
x=19° +y-23° = 180°

Lx + Ly = 222°




@ 9 EFGH °f =291 H2 4 7ljoltt.

@ W AEHD °f $21Q1 B A2 2 7|},

@ W BFGC ofl #3321 2A 2= 4 7ol

@ ™ ABCD °f 4=2|Q1 =M= glrt.

@) mAe) BF st 29 9710 9= mARE 4 olet,

22 5 7tk




23.

11 4] 34 8 30 2w, A3} BHo] o]k 7}
A

715 Fotefzh (g, g 24 A= 7] )

o

» = °

[> =t 219.75°

~&B

11 A] 34 £ 30 =11 A] 34.5 BolB &

Ado] ¢ 2=

30° x 11 4 0.5° x 34.5 = 347.25°

Bo] £7Ql ZE = 6°x 34.5 = 207°

Zro z0] 7ho] 47|% 347.25° — 207° = 140.25°
wtA] Lot 2o A7)E

360° — 140.25° = 219.75°




24. oz 3" 1/ /m @ ®, 2x 0] 2715 Fsteiet,
!

>
> Heh: 40°

(x+15°-25°) + (x — 6° — 24°) = 40°
2x — 40° = 40°

2x = 80°

Lo Lx = 40°




25. o2 19L& S-S 2 H HLe Aot} /B1J = 20°, /BGH = 25°
Ao, zx+ 2y & A71E Fotoi=t.

(HGB' = 25°,/GB'H = 90°°| 22 /B’'HG = /BHG = 65°
o|tt.

Ly = 180° — (65° 4 65°) = 50°

AIB'J oA /IJB’ = /FJD = 70°°]| 2 &

AFJD 9|4 £JFD = 20°, .BFH = 80°

ABHF oA /FBH = 50°

Lx = 180° — (90° + 50°) = 40°

wabA] zx + 2y = 90° O]t}




